Ot = [3" (feest2504)d = 4

0T )= ), 1e(B.6), 200)= (= [F[|(clrerofldsof
= 2 [B o e/tee) db

ar

1§ 2W=(5t3,1) te®3) ()= ()= (3] (4,0t = [Ererd(to) = 1905

feCab) B#), ; ;
“CL ‘*“) S cmf:sfem‘ wuff- N, 1&9»4‘.‘% 1) te(h4) ¢ st wrh N

(Sait), 0 = Ragp (NE2), N (¢ () )T g0 o T F (0
(bi). Buae) (=540, =54 0= Rogy (- Nfult),-otet))
[ do = fRuftdt S [(0) - ey

ﬁ ( d)-?C
H (0 (a kOo((fl)oU J\"I’ /6( /\/[l)((“)/é'”f'L fﬁ//oc{f)yﬁ[f j ﬁ,s repwrmhru‘hm offu B

) ﬁ Lo, (5-4\& of Bare duth (no-m-ons, sugh A must exist, [;—-ot "(g1)) S‘rm_i
bu th oz and &WWHW (. p40) h nust ke fporetinbln

BCH 3 Uhtt)) et) Bwfﬂcxu I8l =, go Wit ][], Bt B g condmus .

Kzl o W24, /,[ whichever gine  JEBERE Ble)= A A1) (A1)~ “(Am)
. SQJJ/ m/c& = /c//@({)[o&‘ [fg’//oz(uu)//l}l(ﬂ At if K e=m=

A=) Kwdr of ies
- fao‘ [« blu L, U2 Al

ﬂm\_ﬂ

_U_.‘mj f+J)(v) ?(*f-tg,) vz Vv 47§ v 5 df{u)-mﬂv) Y/ vé-‘l’v)ér‘«’ ___geu'c.

b )A(fj) V)= 9194w v = laf=4} vfd) )V + 94 fp)v

o S df = 9df4 s -
D dhef Jw) = 9 Uhef)-v = KPRV, S dllhef) she Pef

'nnmnrr

--——————_———n—_—_.___a__._.__.___.

ln/L f dey. x.oin /;?Sm‘t(zsn'f) 20 (zwsf)]f~v8'7r
(b) fe ( X;dv,w dx) = [“Ebsmf)(-asmf + (tent ) ( bu»+)]d+ =25 = zmb

() o2 qu = fMﬂJ feto)) - Lint) ) whee o £ T8« dE VD V= BReV:
AtX)=0;, 5. dif- PRI

;ititl*a";li\“ﬁ'ﬂ'ﬂﬂ;ﬂ

(L wE) = %j}_ﬂ(&ﬁﬂ@&ifﬂr = 4 (az-n),;'f_i‘ So Jw: [R5 (frew) e
| %

|i‘ I!" |‘P i e
] | 1% &

| |
o _(_n CAVREN 51' o m

A

d . —



